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Question: 1 . {20)
What is Cost Accounting ? Discuss the advantages and limitations of Cost Accounting.

OR
Question : 1 (20)

Discuss the difference of Financial Accounting and Cost Accounting.

Question : 2 (20)
From the following information, calculate {1) Re order Level (2) Minimum Level (3) Maximum
level, and (4) Average stock level.
Rate of Usage : 250 units per week to 750 units per week.
Lead time : 3 weeks to 7 weeks. For emergency purchase 2 weeks.
Re order quantity : 2,000 units.

OR
CQuestion : 2 {20)
Diseuss : {A) Economic Ordering Quantity {B) Halseyv Plan & Rowan Plan.

Question : 3 : (20)

A Company has purchased a new machine. Together with this, there are other five machines.
The total cost of machine is Rs. 7,50,000. The machine has an estimated life of 15 years and is
expected to realize Rs. 30,000 as scrap at the end of its working life. Other relevant data are as
foliows,

{1) Budgetec wor<ing hours are 8 hours per day for 300 days. This incluce 400 hours for
plant maintenance.

(2) Electricity used by the machine is 15 units per hour at a cost of Rs. 2.00 per unit.

{3) The machine requires specia! oil for heating which is replaced once in every month at a
cost of Rs. 2,500 on each occasion.

(4) Estimated cost of maintenance of the machine is Rs. 500 per week of 6 working days.

(5) Three operators control the operations of the entire battery of six machines and the
average wages per person amounts to Rs. 450 per week plus 40 % fringe benefits.

(6) Departmental and general works overheads atlocated to the operations during the last
year was Rs. 60,000. During the current year it is estimated that there will be an
increase of 12.50 % of this amount.

Compute Machine Hour Rate.

OR
Question : 3 {20}
What is overheas ? Discuss in detail different types (classification} of overheads.



Question : 4

The following details are available.

{20)

Prepare a Cost sheet showing cost and profit.

~ Particulars Cpening (Rs) Closing (Rs) !
1 _Raw material 29,500 }- 36,000
' Wo"' in Progress : !
- iviaterials 13,600 ! 12,000
' Wages | 11,000 16,500
! Works overheads j 6,600 9,900
 Finished goods 200 units @ Rs. 84 : 1,600 units |

2. Purchase of raw material Rs. 1,90,000. Carriage on purchases Rs. 1,500. Sale of scrap of raw

materia's Rs. 5,000.
3. Wages Rs. 2,97,000.

4. Works overheads are absorbed @ 60 % of direct labour cost.

5. Administration overheads are absorbed @ Rs. 12 per unit produced.

6. Selling and distribution overheads are absorbed @ 20 % of selling price.
7. Sales : 7,600 units at a profit of 10 % on sales price.

OR

Giiesticn 4 (2o

A product passes through three processes A, B anc €. 18,000 uniis at a costor Rs. 1 were
fssuec te process A, The other direct expenses ver B

e ! Process A Process & process C ;
Materigs ~ Rs. 1,000 o 21,560 Rs. 1,480 !
Diect Lebour - 5,000 8 eoe 6,500

Direct £y 25ES i 1,050 1388 : 1,605

The wast age of of process A was 5 % and p*oces B was 4 %. The wastage of process A was sold
at Re 25 perunit and that of 8 at Rs. 0.50 per un't ard that of € 2t Rs, 1.00 per unit. The
overheac charges were 168 % of direct labour. Trhe ¥nal procuct was soid at Rs. 10 per unit,

fgrching 2 profit of 20 % on sales.

Caiculate the percentage of wastage in process C.

Question+ 5 {20)
A company's profit as per Costing books was Rs. 46,126 whereas the audited final accounts
showed a profit of Rs. 33,248. From the following particulars pregare a reconciliation

staterent,

profit & Loss Account

YE : 37 Mazarch, 2009 L
] ~ Re - ~ Rs.
. Opening Stock | 4,94,358 . Sales , | 6,93,000
Pureraes ‘ 1,64,308 N urlincore ' 632
Direct wages 45,268 Ciosingstocs . 1,50,242

Faclory overheads Z 41,652




Admn. expenses 19,690
Sales expenses 44,352
i Net profit 33,248 B
8,43,874 | 8,43,874

The cost records show :
(1) Stock balance of Rs. 1,56,394,
(2) Direct wages absprbed during the year Rs. 49,734,
{3) Factory overheads absorbed Rs. 39,428.
(4) Administration expenses charged @ 3 per cent of selling price.
(S) Sales expenses charged @ 5 per cent of value of sales.
OR
Question: 5 (20)

Discuss at length the reasons of difference in profit as per financial books and cost books.

- R -



[36]

H.4

H.1

u.L

.2

M.3

H.3

No. of printed pages: 3
SARDAR PATEL UNIVERSITY
SY BCom (External) Examination
Monday, 10 March 2014
2.30-5.30 pm
AA 203 Ad. Accountancy & Auditing lll
Total Marks: 100

usd? (@16l ugla 2A2a gf 7 usdR (RA10ll Ygldal sIAEL Al HATERAIA T 521.(20)
AUl

olielifsa 21160l ugld 2l usdr Biiell uglden agiaddl uAf 52, (20)

oflofl 113l uzel (20)

(2) yoi: 926l Auid] (R) aggad Auid] (3) Heu W) il
(¥) 2212 Auidlddl Mesidl s,
Ui : E35 216415 U0 Yz &f] wuo Ydfle
sidladicll 2132 : 3 2641511 &l W AsdAISIAI. diFledd] wIE] R AsGISKII
Yai: g€] ¥e4) : 2000 Ydlle
AYal
2l 53 : (20)
(1) 21fdis al wea (R) B o, Adat \dlof

SuallA As g uello wdlg 8. 211 2010 oflon yiy () A#2la 8. 2otoll 5 (=0)

uSdR 34, W40000 8. #efloid] s1d Wddl 1u 4N 8, 214 d By ddl3

31. 30000 3i QUIR, Ve [Boidl ol Yyyor 8.

(1) si¥al at15S] SAIS) : Aovall ¢ sAIS, 300 [Ed i, i ¥00 sdIs Mol
WP Y 8.

(R) 2llot AAs saIsHi 1u Ylaiz vl 8, Ylole €16 ey 31. * 8.

(3) w2llol uGIgUI /213 84T HIZ AS VIR USRell dgddd ¥32 ud 8.
1Pd €2 Afed 3 1. U004l usdaell viedani 2114 8.

(%) u2MNotoll 2A1R-AeNNa €2 1641153 3 1. Y00 wid &I B. As AsaIlSIa
s kg 8.

(u) ® (5) A2oioll 11 2y Adiaal 3 AU (5R1°R)dll ¥R 8. 211 €35
SIPIR ol WdIR €2 EAISIA 3 1. ¥U0 gl ¥0% HoAlld B.

(§) srRIdiol aifds 2NAUZ viuiAdl 31. 50000 &di. i 241 ¥ 1R.U0 %0l

qaRl 4gl.
AifAs sais €24 210103 82,

Y|

RRIUA wul gf 8 7 €35 UsRal RRIUA vl (Types)dll emviar a€ld Al sA.  (:0)



1Y oflddl {daid uefl usdz ia gl e2iidg Usde] usis (Cost Sheet) clolidl,

(*)

(2)

(3)
(¥)

(s)
()

GRS U3 1ddl] 8% aqy 2id
(31.) (31.)
S13) Mid REU00 35000
26 dauIR Hia:
Hid An 13500 12000
dde 99000 15400
sRulldleli [RIRIUZ] vial $500 €E€00
dar Aid 200 Yfolz | 1500 Ylal2
3. <¥oll €2

Hid Apilaidfl vl 31. 2€0000. dall Hi2 GG 3 1. TU0O. WE APilciell FyUg]

dy11 31. 1000,

ddel : 31. REWO00

sRuilalloll RIRIUZ] vil Mzt 39Floll 50%all €2 ajcanti 2414 8.
ggladl RiRIul vl Beuled s3d Ylaz €ls 31. 2R IRl ayaai 2414 8.
Auielell RIRIVZ vAT dier Badoll 0% IR aydapii 2119 8.

duIel : w500 Yloi2, dAu1el Bad U2 10% asigll Al

s Wisse 3 Uk (A, B 2id C)Higl uAr i1 8. A 3Ide¥i 10000 Yfai2,
€28 3 1. 1ofl UsaR i 241 2119 8. o Ucl vl ol Yo 8.

AYqi

[31d MIZAA 3. MFAB3L | MRAAC 3L
Hid Ap1A] 1000 00 9¥¢0
G ¢ U000 €000 $U00
M2l vl 1040 1<¢ 150y

HIAA A ol 62115 U% 21a MIAA B ol oilis 9% 8. MIARA A oll wolis Ylole €16
31 0.]u, MIAA B ol oiis Yfoiz €16 31. 0.u0 ia MIAA C ol volls Yfae
6 31. .00 &l AAd 8. RRAUA vulRA U2t #ghall 15¢% 8. dar Hd
Ylaz €s 31. 10 &l AAd 8, i dAer Brd U2 0% oS 4R 8,

WA C i «ai eidnsdl sz (percentage ol 210103] 53,

(20)

(20)



WU Usar [Bailoll 3ol s sudllall oigl 3 1. ¥592F 8, %R eiifsA (BA161 yxid)

A

aisl 31. 33¥¢ 8. oldll [&o1d U aiste] Anaell usis olotidl.

cigl ojsUlel Mg
31 HIR] 200€ ol A% Y2A Yai 9 A2

3L 3L

23iIdell 225 ¥e¥3ue | A | seso000
vidlel 15¥304 | WRYRLI A4S §3R
U2l 3y ¥GRGS | AUl 2218 U0RY¥R
siRullallel] 2fliu] wuf ¥1SUR '
48lad] vl 1E5E0 |
dauiel vl YY3UR
Avul oig] 33:%¢

%309 £¥3\9%

UScall (@16l WHI ¢

(1) 2R 2218 31 1Us3€Y

() 9y el 9YAE U2 HYD 3 1. ¥ewaY

(3) ¥ exxutol sIRUIIol RIRIVF] viAT 4YAd 284 31, 3e¥ac
(¥) 9&l9d] vl quiel Budell 3% Yol aqdanii i1,
(u) Qe vl durel [Badel uy% wHIdl gdd 8.

2Yq|

alllifs (BAI61 2l USAR BAIG] UHIBlall aisiil asiddal sizeiled [QaraanR
AT 83,

(0)

(0)



